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4 1:38 | PASS| #9 - #80 9 | K|#8 G 28| 7
4 5:36 | RUN [#22 10 | K [#11 G 35| 7
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al no TOGO| PLAY  PLAYERS a o T0GO| PLAY  PLAYERS
1 49 | & [pass R < 1| 37| 8| pass B =
2 21 | 9 | run 2 | = 2| 23] 9] run o =
3 11 | 11 |Pass . 10| = 3| a1 3| ron 4| o
2| 4 9 | 5 |ruN 9 | 4| 20|17 run a3 x
5 50 | 1] Run 2| o 5 | 47 10| pass B =
6 31 | 8 |Pass . = 6| 35| 7 |Pass B <
7 15 | 9 |Pass . = 7| 28] 8 | eass B 1nl o
8| 17| 10| Pass B <
3| s 49 | o |Pass R 6] o
9 15 | o |Pass . 10|o| s o 48| 6 |rass . =
0| 20| ¢ |run 1] = 0| 42| 3 |pass B 7] o
ol 11| 35| 15 |Pass . INT 11| 50| 9| pass B 5| o
12| 40| 2 |ron 2| o 12| 28] 3 | Pass B =
13| 10| 1 |roN 10 o 13| 20| 5 | pass B 20| o
14| 40 | 15 [pass B < 1| 25| 14| Pass . =
5| 17 | o |pass . < 15| 33| 10| PAss B 3 | =
16| 42| 17 | pass B <
[ 15 ] 6 | 40.0% [ 16 | 5 | 31.3%

a| no TOGO| PLAY  PLAYERS o o T0GO| PLAY  PLAYERS
1] 1 1 1 RUN 1 3 1 28 3 PASS - >
o 2| 36| 7| Pass B =
3 42 17 PASS - INT

[ 1] 1| 100.0% [ 3] o | 0.0%

11:18 8:02 3:16 PUNT -19 8 2 - 49 PUNT 32
6:37 2:37 4:00 PUNT - 41 9 2 -0 TD 41
1:11 0:00 - INT - 47 - - -9 - -

12:00 11:03 2:08 - -9 5 2 -0 TD 53
9:27 5:27 4:00 PUNT - 41 10 2 -31 PBLK 28
3:48 1:26 2:22 PUNT -3 5 1 - 15 PUNT 12
0:16 0:00 0:16 FGNG -20 2 1 - 32 END 12

11:53 9:07 2:46 KO - 38 6 3 -0 TD 62
7:33 4:15 3:18 PUNT -8 6 3 -0 TD 92
1:53 0:00 ———— 4DOWN - 28 - - - 30 - -

12:00 11:51 2:02 - - 30 4 0 - 30 PUNT 2

10:13 9:21 0:52 KO - 40 3 0 -35 INT -5
9:21 6:24 2:57 FUMR - 48 6 2 -0 TD 48
5:16 4:15 1:01 PUNT - 45 4 0 - 40 PUNT -5
3:08 1:23 1:45 4DOWN - 36 5 1 - 17 FGNG 19
0:31 0:01 0:30 INT - 45 4 1 - 30 INT 15

FD

12:00 11:18 0:42 KO -35 4 0 -37 PUNT 2
8:02 6:37 1:25 PUNT - 22 4 0 - 14 PUNT -8
2:30 1:11 1:19 KO - 34 6 2 - 40 INT 26

10:56 9:27 1:29 KO - 36 4 0 - 26 PUNT -10
5:27 3:48 1:39 PBLK - 47 8 1 -35 PUNT 18
1:26 0:16 1:10 PUNT - 50 8 2 -17 FGNG 33
9:07 7:33 1:34 KO -35 7 1 - 48 PUNT 17
4:15 1:53 2:22 KO -35 10 2 - 28 4DOWN 37

11:51 10:22 1:29 PUNT - 45 6 2 -0 TD 45
6:18 5:16 1:02 KO -29 4 0 -25 PUNT -4
4:15 3:08 1:07 PUNT - 18 6 1 - 36 4DOWN 18
1:23 0:31 0:52 FGNG -20 5 1 - 42 INT 22
0:01 0:00 0:01 INT -5 1 0 -5 END 0




